
Opérations avec deux fractions mixtes (I)

Nom: Date: Note:

Calculez chaque résultat.

1. 513 × 135 =

2. 567 − 51117 =

3. 535 + 2 116 =

4. 516 × 138 =

5. 114 × 512 =

6. 513 + 21419 =

7. 512 + 1 219 =

8. 512 − 1 611 =

9. 556 − 31719 =

10. 537 ÷ 312 =
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Opérations avec deux fractions mixtes (I) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 513 × 135 = 16
3 × 8

5 = 128
15 = 8 815

2. 567 − 51117 = 41
7 − 96

17 = 697
119 −

672
119 = 25

119

3. 535 + 2 116 = 28
5 + 33

16 = 448
80 + 165

80 = 613
80 = 75380

4. 516 × 138 = 31
6 × 11

8 = 341
48 = 7 548

5. 114 × 512 = 5
4 ×

11
2 = 55

8 = 678

6. 513 + 21419 = 16
3 + 52

19 = 304
57 + 156

57 = 460
57 = 8 457

7. 512 + 1 219 = 11
2 + 21

19 = 209
38 + 42

38 = 251
38 = 62338

8. 512 − 1 611 = 11
2 − 17

11 = 121
22 − 34

22 = 87
22 = 32122

9. 556 − 31719 = 35
6 − 74

19 = 665
114 −

444
114 = 221

114 = 1107114

10. 537 ÷ 312 = 38
7 ÷ 7

2 = 38
7 × 2

7 = 76
49 = 12749
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